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Vol =
FER N E
TESL | A6 RSN A S R A ARG T it T
TSy « TfE - FER M7 ¥ & & # A bl A iR
&G TR =X 1 67, 822, 998
BT = 1 1,552, 778
HRHEI T = 1 317,800 |#HH! 1, 000 m3
+4)
P v T = 1 1,234,978
&L = 1 23, 747, 373
EELT = 1 2,181, 006
oyl Iz N = 1 21,566,367 |¥Lays)-} 81 m2
15 t=10cm ;
/7Y =} 452 m3
25
i53i0) 0.41 t
SD345 D13 ;
ki 12. 62 t
SD345 D16~25 ;
i53i0) 8.55 t
SD345 D29~32 ;
Tl e 1 =X
— e
AR 1 X
< SUNEEA AR
s 1 =X
FI 8 22l R A 8 E10
¢ 175 L=580mn ;
HIPERA 1k 19 m2
ik 67 m2
CC-BREBEE ;
HNHEAK 33 m
TP-1-2
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== /oA =
FEAENRE
TEHEL | AT 6 EEREE AL SRR SR T T3
TEHX4y « Tfd - FER B Az W B & #A i il N BN
BH T = 1 30, 331, 879
(== = 1 9, 326, 991
165 8RR L (RS AT = 1 21,004, 888 |WTAMEE 458 m3
2%
kA 1.1 t
SD345 D13 ;
kA 12. 07 t
SD345 D16~25 ;
kA 3.55 t
SD345 D29~32 ;
I 2 11 7R e 8 (&0
¢ 150 L=420mm ;
iR 74 m2
CC-BFRiREE ;
HFHEK 36 m
TP-1-2
KRR T Y 1 108, 660
ST = 1 108, 660 | 15 FE K 2 be
W SRA 44 300X200X 13 ;
A Y 1 12, 082, 308
TEHERKT Y 1 264, 060
B - ARG T = 1 9,524, 748
B EHT = 1 2,293, 500
JE O R 2 1 49, 526, 970
WiERE T = 1 22, 754, 029
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I%% %%D 6 ﬁigi%i/\/]’ INA MZK%%*%T%K{EI%

TEHEX Sy - THE - R A % & A il 2! EN
e+ T X 277, 048
P THERE 1T (K 1E4) HAAL) 2V 4,332,440 | /|NRIBERE 40 n3
1555 ) e
EEWAEW s 5 m3
2455 ) X igfeE
EEWAEW s 8 m3
35 Ak
LT F I HiERE T 2V 10, 627,035 | ¥ Lavy)—} 58 2
15 t=10cm ;
VAR 204 m3
25
i53i0) 1.5 t
SD345 D13 ;
(73:11} 3.31 t
SD345 D16~25 ;
7331 7.36 t
SD345 D29~32
P 1 2
— A
H HihR 16 m2
TEFAEE B ik t=20mm ;
KRN A7 3 m
VU ¢ 150 ;
Bk 13 m
W=400 t=30 ;
H T HEK 8 m
TP-1-2
=5 1 =Y
LT F I HiERE T 2V 7,517,506 |#jLavs)-} 50 2
15 t=10cm ;
VAR 120 m3
25
557 1.12 t
-3 - E hAimE  EHT A
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parg =
FER N E
T4 | SN 6 FEELEEANA NSRS T Ehih TE
TSy « TfE - FER B {7 ¥ & & A bl A iR
SD345 D13 ;
i53i0) 2.5 t
SD345 D16~25 ;
i53i0) 6.22 t
SD345 D29~32 ;
Tl e 1 =X
— e
H HihR 11 m2
TEFAEE B ik t=20mm ;
IKERN 47" 2 m
VU ¢ 150 ;
FHKE 16 m
W=400 t=30 ;
H T HEK 8 m
TP-1-2
2% 1 =X
7wy )FE (3R T = 2,531, 030
VIR VARV RN EVZA I VAR PYZ ) = 2,531,030 |BIEEFTELRE Y-} 16 m
175 B4
avy )= (1) 77 ny )i 72 m2
1557 ny) 8
Bl HT Ruiav - 1 m3
15 Ky )b
HEKHEEY T = 20, 667, 366
EELT = 314, 517
AR T = 3,745,059 |7 V¥¢A NIRRT 106 m
PU1-B300-H300
7" Vv A URURITE 4 m
PU1-B450-H450
7" Vv A NUBRMAITE: 75 m

PU3-B300-H300
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Vol =
FER N E
TH4 | A6 FEEREE N A SRR ELEE i T
TEHEX Sy - THE - R B {7 ¥ = & # il pall 2! iR
H 2B RS 19 m
1 5B H A%
ik 150 e
PC4-B300
ik 17 e
a/))-hEgE
HE M B600 L=500 2 M ;
illes= 1 r5e
AT VA
HE A B600 L=500 2" AT A E ;
BT = 1 14,073,120 |1 3442 39. 4 m
2EE 25.7 m
KMk T = 1 2,421,100 | Bl BETIRME 1 T
G1-B500-L500-H700
BT B IR 2 (£
IREREapy
BT B IR 1 (£
2515 U
BT B IR 2 (£
ST E I
BT B IR 1 (£
451 I
BGHT K 1 (£
IREE V97
= 2 r5e
GC-B500-L500
= 2 r5e
AN VA
T-25 500X 500/ MW H & VMEE %A ;
= 3 r5e
AN VA
T-25 800X 800 M H & VMNEE %A ;
= 1 b5
)=y 2
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s Sefe =
FEAENGRE
TEHEL | AT 6 EEREE AL SRR SR T T3
TEHX4y « Tfd - FER B Az ¥ = & #A #m il N BN
T-2 2400X 2400/ I H ¥ LiAAHA KM ;
HATL X 1 113,570 |[15-&0 1 &0
= 2 %
IV
T-2 995X 600X 32 A7 B ;
TE AT R itk T Y 1 397, 679
[y ) - T = 1 397,679 |1E-3Ea/7) -} 139 m2
HEYE T Y 1 2,403, 500
s EEE L T Y 1 1, 769, 000 |av7)-ME&EYEUE L 100 m3
EmEEY |
TE LB T =Y 1 634, 500 | FERR 100 m3
/) -hk (BRAD)
RISy 100 m3
/) -hk (BRED)
A Y 1 773, 366
(== Y 1 22, 856
K T Y 1 750, 510
[ERAE Xy = 1 117, 349, 968
HiE 2 1 13, 747, 819
BISTI S = 1 2,130, 819
TERE 2 1 564, 469 | BRI HIENEE 1 =
IR TR 1 =
Hefif & 2 1 397,550 |{kER 500 m2
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R PERE
THEL | A6 FERERER AL SR ARG T T
THEXSy - THE - FE5 H7 & & # i Gl 2 N
EsZREgiis ¢ 2V 1 58,800 | FEfiRR FEAT ~FIERLEY 1 ey
BUGBREIUEL (REH L) 2V 1 1, 110, 000
sty (R L) 2V 1 11,617, 000
ol T 2V 1 131, 097, 787
e R E20 1 40, 373, 000
T AT 2V 1 224, 048, 050
— e PR E20 1 34, 111, 950
N E20 1 258, 160, 000
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THEL | S 6 FEL N A SRR EZEE T T X

TEHX4y « Tfd - FER B Az £ & F #m il N BN
JE O R = 35, 260, 263
EHET = 1,034, 826
Bt =Y 63,000 |7&E+ 280 m3
AL T =Y 971, 826
HEKHEY) T Y 34, 072, 537
(== Y 182, 267
BT = 32, 756, 270 | 1245 %E 14. 4 m
25U 51.1 m
STELR 61.7 m
LKAk T = 1,134,000 |BUGFT B HTIEME 1 (GBI
SE-fE IR
BT BT 1 (GBI
6B IE it
= 2 %
VAR VA
T-2 1800X 1200/ I H ¥ LiAAHA 280/
A Y 152, 900
B EHT = 152, 900
[ERAE Xy = 35, 260, 263
B R = 4, 343, 000
BISTI S = 426, 000
BGRESCESE (5 L) = 426, 000
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R PERE
THEL | A6 FERERER AL SR ARG T T X
THEXSy - THE - FE5 H7 & & # i Gl 2 N
sty (R L) 2V 1 3,917, 000
ol T 2V 1 39, 603, 263
e R E20 1 12, 974, 000
T AT 2V 1 52, 577, 263
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